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The 6 × to 10 × times tables 

 

N1/L1.5 
N1/L1.6 

Fill in the blanks in these grids to practise the 6 × to 10 × tables. You can use the grid on the 
‘Times-tables grid’ factsheet to help you find the answers. 

The first grid has been started for you. For example: 10 × 9 = 90. 

 

× 10 6 7 9  × 7 9 6 10 

9 90 54    8     

8 80     7     

7      10     

6      9     

           

× 7 9 8 10  × 9 7 6 8 

10      8     

6      9     

7      10     

8      6     

 

Now check your answers with the answer sheet. 

 


